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(1) 3 = 2 = 15
15 X 15 X 314 = 17.065
ZZ 7.065 cm?
(2) 1 X 1 X 314 = 314
EZ 314  cm?
(3) 12 - 2 = 6
6 X 6 x 314 = 113.04
£z 113.04 cm?
page 2
(1) 5 X 5 X 314 = 785
785 — 4 = 19625
£z 19.625 cm?
(2) 9 - 2 = 4.5
45 X 45 X 314 = 63585
63.585 -+ 2 = 31.7925

zZz 31.7925 cm?

(3) KEFL\EAMSPELEEEIK

2 X 2 X 314 = 1256 -—KZL'H
2 - 2 = 1

1 X 1 X 314 = 314 -pSLH
1256 — 314 = 942

EZ 942 cm’
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(1) 10 X 10 X 314 = 314
EZ 314  cm?

(2) 13 X 13 X 314 530.66
530.66 — 4 = 132.665

EZ 132.665 cm®

(3) mARAISMAZESIK

5 X 5 = 25 -mEARK

5 = 2 = 25

25 x 25 x 314 = 19625 M
25 — 19625 = 5375

EZ 5375 cm?

w @ http://6nen.sunpuz.com/
Copyright (C) E-SOPHIA Corporation. All Rights Reserved.



